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Neme:  Class:

ldentify Equivalent ratios

a. Arethe ratios12:14 and 48 : 56 equivalent?

b. Determine whether the following ratios are equivalent.
3:2and15:10

C. Aretheratios 8:7 and 2:14 equivalent? |

d. Are the ratios22 : 24 and 58 : 66 equivalent?

e. Determine whether the following ratios are equivalent.
7:6 and 20:15

f. Aretheratios 16 :14 and 4 :28 equivalent?

Math-word problems.com
All rights reserved



h‘ I Math-wordproblems.com

ldentify Equivalent ratios

a. Aretheratios 12:14 and 48 :56 equivalent?

‘Werite the ratios as fractions. |
n2114/=[12 | | 48:56= 48 |
14 56
Find the LCD to compare the fractions.
multiples of 14:14, 28, 42,66). ..
multiples of 56_: 12 ..
LCD of 14 and 56 = 56. |

‘Write 12 with a denominator of 56.
14 12 = 12x4 - 48
T[] [ | [4xa | 56|
'So, since 12_ and 48 are equal.|
14 56

Therefore, the ratios are equivalent.

b. Determine whether the following ratios are equivalent.

5:P and15 110

13:2= |3! | | n5110=115]
- The LCD of 2 and 10 is 10. |
‘Write 3 with a denominator of 10..

| 2| B L DxS! 1 15 ]

2 | 2x5| | 10|

'So, since 15 and 15 are equal |
10 | |9 | |

Therefore, the ratios are equivalent,

c. Aretheratios 8:7 and 2:14 equivalent? |

R-7= 18] | |9fd=] |2
N A I A I .8
" The LCD of 7 and 14 is 14.

‘Write_8 with 'a denominator of 14.

7 8 L 8x2| L16
| V| 7x2| | 14|
2] = l2ix1 I {2 |
14 14x1 | 14
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So, since 16 and _2_ are not equal.
14 14

Therefore, the ratios are not equiévalentf.
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